11. Find the area between y = ¢* and y = ¢%* over [0, 1].

SOLUTION Asthe graphof y = ¢2* lies above the graph of y = ¢* over the interval [0, 1], the area between the graphs

is
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FIGURE 11

SOLUTION Setting sinx = sin2x yields sinx(2cosx — 1) = 0, so the points of intersection are x = 0, x = % and
x = 7. Over the interval [0, Z], y = sin2x is the upper curve but over the interval [%, 7], y = sinx is the upper curve.
The area of the shaded region is then
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17.

y=x«jl —x2
FIGURE 12

SOLUTION Setting 2x = xv/1 —x2 yields x = 0 or 2 = /1 —x2, so that x = :t“/— Over the interval [——£ 0],

y= %x is the upper curve but over the interval [0, -“/——], y = xv/1 — x2 is the upper curve. The area of the shaded region

is then
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